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Final Exam Review - Part 1

1) msFGT =39°, msTGH = 9x + 21, 2) mcUVW =111°, msGVW = 36x — 2,

and msFGH = 13x + 16. Find x. and m«UVG =21x — 1. Find mzGVW.
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3) Point B lies between A and C, and point C lies 4) Angle A and angle B are complementary If
between points B and D. If AB =2x + 2, angle A measures 7x + 1 and angle B measures
BC=4x-1,CD=3x-7,and AD = 30, find 5x - 7, find the measure of each an 16'__’—_:/‘7*_?
the lelngthslofAB BC, andAC . g ¥ SJ Ix+] + 5x-7 = Q rnmﬁ,% ] 2 30
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5) Ray BD bisects angle ABC. If angle ABD{%‘ B = IC (r(':) For the points A(O 5). B(2, 3), C(-4, 2), and
measures 4x and angle DBC measures ?‘ BC = | D(-1, -2), determine whether lines AB and CD
2x + 30, find the measure of angle ABC. A C ,“_5__._’ are parallel, perpendlcular or nelther ——
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7) Fmd the slope of a line that is perpend1cular to Find the distance between each palr of points.
a line through the pomts A( 3 6) and B(7, 2). Round your answer to the nearest tenth if
s o R o necessary. " n Ll ) N
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Find the value of x. B W(o Y + 64 :’ f_;_j
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Find the midpoint of the line segment with the Find the other endpoint of the line segment
given endpoints. i

Rt with the given endpoint and midpoint.
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A 14) Endpoint: (~10, 6), midpoint: (0, 3)
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Write the slope-lntercept form of the equation of the line. 10+ X =0 Ldu = b L( J_d; U) J
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Find the missing m asurement 'Round your answer to the nearest tenth.
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Solve for x.
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Find the slope of the line. (Hint: y = mx + b)
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Find the measure of each angle lndlcated
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Find the slope of the line through each pair of
points. -\7-3 .- 20
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Find the measure of angle A.
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Find the value of x.
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Order the sides of each triangle from shortest to
longest.

Shoytest.
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Order the angles in each triangle from smallest
to largest.

36) Smallest .

R
LT
LR
T S
14 Q
ngei* £



State if the two triangles are congruent. If they are, state how you know. (SAS, ASA, SSS AAS)
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Solve for x.
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Find the measurement indicated in each
parallelogram.
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Each figure is a parallelogram. |

State all possible names for each figure
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Solve for x. Each figure is a trapezoid
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Final Exam Review - Part 2

Find the area of each.
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Find the missing measurement. Round your answer to the nearest tenth.
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Solve for x.
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11)

Solve for x. The triangles in each pair are
similar.
12)
F i E
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Solve for x. The polygons in each pair are similar.
. .. Find the missing side of each trlanglé ‘Round
_ 24 [Z\ your answers to the nearest tenth if necessary.
?}vl o \2
AX”«X 2 X7= 8896+ 10816
2 4 4
- b (”“JO . % X = 196,52
% = p " {/ Lnio
L W @ i ‘ X ~ /z_ _,0 {:
Find the missing side lengths. Leave your answers as radicals in simplest form e
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Find the missing side. Round to the nearest tenth
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State if each triangle is acute, obtuse, or right. Find the measure of the indicated angle to the
19) nearest degree.
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Find the value (fraction) of each trigonometric Solve for x. Assume that lines which appear to

ratio. be diameters are actual diameters.
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Find the measure of the arc or angle indicated. Assume that lines which appear tangent are
tangent.
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Solve for x. Assume that lines which appear Use the information provided to write the
tangent are tangent. equatlon of each circle. —
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Find the interior angle s sum for each polygon. Round your answer to the nearest tenth if necessary.

27) 28) Two similar polygons have areas 36 and 81.

( V-5 }{I \&D ) Find the scale factor.
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Find the area of each sector. Round your
answers to the nearest tenth.
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Find the length of each arc. Round your
answers to the nearest tenth.
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Find the measure of one interior angle in each polygon. Round your answer to the nearest tenth if

necessary.
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32) Two similar polygons have a scale factor of 4 :

5. The area of the larger polygon is 200 m>.
Find the area of the smaller polygon.

33) Two similar polygons have a scale factor of
2:3. If the smallest angle of the smaller polygon
is 40 degrees, what is the measure of the
smallest angle of the larger polygon?

- r: iOS i i
L Qo __EEIJ x ._
T 357500 [y=ia
~ )
;7//"; Iy l.""\_&/-‘ <. ST ”k!, LE.
3 T e iy

Find the surface area of each figure. Round your answers to the nearest hundredth, if necessary.
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Find the volume of each ﬁgure Round your answers to the nearest hundredth, if necessary
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